
Aire et Volume d’un Tronc de Cône (I)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
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2 + πr2
2 Volume =

π

3
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2 + r2
2 + r1r2)

r1 = 60,95 yd

h = 129,49 yd

r2 = 14,95 yd1.

r1 = 86,10 cm

h = 91,56 cm

r2 = 57,54 cm2.

r1 = 57,60 ft

h = 61,60 ft

r2 = 32,48 ft3.

r1 = 57,12m

h = 80,80m

r2 = 11,36m4.
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Aire et Volume d’un Tronc de Cône (I) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 60,95 yd

h = 129,49 yd

r2 = 14,95 yd1.

Aire: 45.139,72 yd2

Volume: 657.614,59 yd3

r1 = 86,10 cm

h = 91,56 cm

r2 = 57,54 cm2.

Aire: 76.971,24 cm2

Volume: 1.503.253,22 cm3

r1 = 57,60 ft

h = 61,60 ft

r2 = 32,48 ft3.

Aire: 32.563,49 ft2

Volume: 402.755,53 ft3

r1 = 57,12m

h = 80,80m

r2 = 11,36m4.

Aire: 30.632,61m2

Volume: 341.891,86m3
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